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5-% B~ 129, 739, 403 0.92791036 120, 386, 536 842, 283
6-4 % & F 17,828, 878 0.92791036 16, 543, 601 214, 001
T-& 3+ 3,447,571, 926(GF) 604, 898, 959(AF) 31, 240, 637(BG) 1, 445, 529(BJ)
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AEA% =[ 191,693,118 - 30, 675, 002 — 2,204, 755 — 33,139] 138,921,377= 1.14295025
2.0 1 {8 > % EHH B 4 = 4 [ {6 A T — PRFETF ? K %‘F“(BD3)
i m;ﬂ‘ﬁ 24 (BG)
— pEPI8EB))]
VAT TR 19T 3-8 o4 1% J(8 )
=[ 9,140, 695, b42 - 80, 276, 975 — 3,185,726],7 9,075,088, 341= 0.99803247
3. I sA T ELE =[ B A F- LIRIFTEE LI (BDI)]
S = BPRFR R %@:(GF) + P 2hF e Bg(B6G) + p P 92E(B))]
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rERAE =[ 1,423,810, 224 11 1, 337, 955, 976 + 11,024, 412+ 696,879 ]= 1.05492643
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